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AND J
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Full Marks : 100
v ' Time : 4 Hours i
The figures in the right-hand margin indicate Jull marks.

] Candidates are required to give their answers in their
own words as far as practicable. |

lllustrate the answers wherever necessary.

' Group - A
( Financial Management )
[Marks : 45]

1. Answer any one question : 1x15

{a) (i) State the functions of Financial Manage:ment.

(i) Discuss the Profit Maximisation objectives of a

- firm. 3+12
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(b} Discuss briefly different types of long term financing
of a project. 15

-—

(c) Star Ltd. provides you the following information :

Capital Structure :

12% Debenture Rs. 200000
9% Preference Share _ Rs. 300000
Equity Share (Rs. 100 each) Rs. 400000

Revenue and operating cost details :

Sales 3000 units @ Rs. 600 per unit ; variable cost
Rs. 350 per unit ; Fixed Cost-Rs. 320000 ; Corporate
Tax Rate and Dividend Distribution Tax rate may be
taken at 30% and 10% respectively.

Calculate DOL, DFL and DCT of Star Ltd. using the ™
concept of leverage, find the percentage change in °'
EPS if sales increase by 10%. 12+3

2. Answer any three questions : 3x8

(a) What is financial lease. Discuss the advantages of
lease financing. 3+5

(b) Explain the concept of capitalisation. What are the
consequences of over capitalisation and under
capitalisation ? _ : 2+3+3
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(c)- {i) What is Dividend Policy’?

(iif A Company’s total investment in assets is

Rs. 1,00,00,000. It has 1,00,000 shares of Rs. 100
each. It’s expected rate of return on inveé}tment
is 30% and cost of capital is 18%. The company
has a policy of retaining 25% of its profits.
Determine the value of the firm using GQrdon’s
Model. - 246

(d) The market price of each Equity Share of P. ;Ltd. is
Rs. 60. The dividend paid for the last 5 year& are :
12%, 14%, 15.5%, 17% and 18% respectively. The
underwriting comrmission is 2%. Calculate the Growth
Rate in dividend and cost of Equity Share. Fac‘e value
per Eq. Share is Rs. 10. 5+3

(¢) (i) Bharat Ltd. issues 10,000, 13% Debentures of
Rs. 100 each at a premium of 5% redeemable after
5 years at a premium of 10%. The floating charge
is 2% on issue price. Corpqrate tax rate i‘s 35%.
Determine before tax and after tax cost of
debenture.

(i) Would your answer be different if th? same
debentures are issued at 5% discount and
redeemed at par ? (other data remain same}

i 4+4
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() (i) Find out the present value of Rs. 2000 due in 6

years, if money is worth 5% compound semi- .

annually.
(ii) What is Time Value of Money ? 6+2
3. Answer any two questions : | 2x3

{(a) Calculate cost of retained earmngs !

Current market price per Equlty Share is Rs. 140,
Cost of brokerage 3%, anticipated growth rate of
dividend 5%. Expected dividend per share is Rs. 14

o
and shareholders personal tax rate is 22%.

(b) State the assumptions of Walter model of Dividend

policy.

(c) Distinguish between financial structure and capital

structure.

(d) Explain the concept of Financial Break-even point.

{¢) Explain the term Primary Market’ and ‘Secondary =
Market’.
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Group - B

{ Management Accounting )

[Marks : 45]

4. Answer any one question : ' 1x15

(a) What is working capital ? What is the imporfance of

working capital ? What are the pfoblcms of inahequate
working capital ? : | 3+6+6

(b) (i} Prepare a Balance Sheet of D. Ltd. using the
: !

(i)

following informations :

Fixed Assets - Rs. 6,00,000 ; Working éapital -
Rs: 4,00,000 ; Working Capital Ratio - 2 : Fixed
Agset Turnover Ratio — 4 ; Gross Profit Ratio -
25% : Debtor’s Turnover - 1.5 months ; Greditor’s
Turnover - 2 months ; Stock Turnover Ratio - 6;
Net Profit Ratio — 5% ; Reserve - 2/3 of Net Profit ;
Capital Gearing Ratio — 1:1.

Explain the role of ratio analysis; in the
interpretation of financial statement.
10+5

(Turn Over)



{c) The following are the Balance Sheets of X Ltd. as on
31.12.15 and 31.12.16 :

Liabilities 2015 2016 [Assets 2015 2016
Rs. Rs. Rs. Rs.
Equity Share Cap{4,00,000 | 6,00,000 {Goodwill 20,000} 50,000
{Rs. 10 each) Machinery (4,10,000( 6,20,000
11% Redeemable |1,00,000 — {Building 2,00,000| 1,50,000
Pref. Share Stock 90,000 | 1,08,000
{(Rs. 100 each)
General Reserve 70,000 80,000 |Debtors 1,80,000| 2,30,000
P&L A/C 1,20,000| 1,50,000 [Cash & Banf 40,000 72,000
Capital Reserve — ! 20,000 |Preliminary .
Bank Loan 80,000| 90,000} Exp. 25,000 20,000
Prov. for Tax 30,000 40,000
Proposed Divd, 40,000 60;000
Creditors 1,00,000 | 1,50,000
Bills Payable 20,000] 30,000
Unclaimed 5,000 -
Dividend | |
9,65,000 {12,20,000 9,65,000 ]12,20,000

Additiona! Information :

(a) During the year Bonus shares are issued out of

general reserve in the ratio of I Bonus share for

every 4 Equity shares.
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(b) Pref. Shares are redeemed at a premium of 10%.

(c) A part of the Building was sold at a profiit and

profit on sale transfered to a Capital Reserve.

{d) Machinery costing Rs. 80,000, WDV Rs. 60,000
was sold for Rs. 50,000. Depreciation charged on

Machinery Rs. 30,000.

(e) Both opening and closing stocks are valued at
10% below cost. ‘
(i Tax paid Rs. 45,000 & Dividend proposed in 2015
was paid in 2016. ' |
Prepare a Fund Flow Statement as on 31.12.16.
15

8. Answer any three questions : 3x8

(a} Sl, Company Ltd. can make either of two investments
at ti1e begining of 2017. Assuming a required rate of
return of 10% p.a. evaluate the investment proposals
under {i) Discounted pay back period method and
{ii} Present value method.
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The particulars relating to the projects are given

below : -~

Project A Project B

Initial outlays (Rs.) - 20,000 28,000
Estimated life (years) 5 5
Scrap value NIL 3,000

Net cash inflows (Rs.)
at the end of : 2017 4,000 7,500
2018 5,000 8,750

2019 6,000 7,500
2020 9,000 7,500
2021 5,000 7,500

It is estimated that each of the alternative proposals
will require an additional working capital of Rs. 5000
which will be received back after expiry of life. The
present value of Re 1 to be received at the end of each

vear at 10% interest rate p.a. is given below :
Year 1 2 3 4 5 =
P.V. Factor : 0.909 0.827 0.751 0.683 0.621

8
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(b} Mr. Goenka intends to commence a new trading
business. From the following particulars, you are
required to determine working capital requirement

and estimated profit : i

(i) Estimated Annual Sales — Rs. 48,00,000 (of which
75% will be on credit), (iij Estimated Gross Proﬁt B
25% on cost of good sold, (iii) Estimated turpover :
Debtors turnover — 6 times, Creditors turnovjer - 12
times, stock turnover - 3 months, (iv) Estimétged fixed
expenses — Rs. 10,000 p.m. including depreciation on
fixed assets of Rs. 4,000 p.m., (v} Variable genéral and
selling expenses ~ 2% on turnover and estimated time
lag in payment of cxpenseé - 1.5 months, {vi) Average

cash holdings - 1 month’s expenses. : 8

(c) Difference between Management Accounting and

Financial Accounting. : 8

(d) (i) What is meant by cash flows from aperating
activities ?
(ii) ‘Depreciation is a source of fund’ — Give reasons

in favour of this statement. 2+6
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{e) Mention any three importance of Capital Budgeting.
How will you take accept reject decision under the Net
Present Value Method in case of evaluation of

proposed project ? 3+5

(f) The following information at 50% capacity is given.
Prepare a Flexible Budget and forecast Profit or Loss
at 60%, 70% and 90% capacity.

Expenses at 50% capacity

{Rs.)
Fixed Expeﬁses :
Salaries 60,000
Rent 30,000
Administrative Exp. 80,000
Depreciation 50,000
Variable Expenses :
Materials 2,00,000
Labour 2,50,000
Others 40,000
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Semi-variable Expenses : 1

Repairs & Maintenance 1,00,000
Indirect wages 1,50,000
Others 90,000

1t is estimated that fixed expenses will remain
constént at all levels of activities. Semirvariable
expenses will not change between. 45% & 60%
capacity, will rise by 10% between 61% &T 75%, a

further increase of 5% when capacity crosses 75%.

Estimated Sales at different levels are :

60% Rs. 12,00,000

70% Rs. 14,00,000

90% Rs. 16,00,000 8
6. Answer any two questions : 2x3

(a) Write a note on Zero Base Budgeting.

(b) State the uses of Cash Flow Statement.
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(c) What is the difference between ‘over-trading’ and

under-trading’ ? 3 e

(d) Initial investment - Rs. 50,00,000 and scrap value Rs.
5,00,000 after expiry of usuful lifCTr 10 years. Profit
before charging depreciation is Rs. 10,00,000 p.a.
Income tax rate is 35%. Method of depreciation is
straight line. Calculate ARR. 3

(¢} From the following calculate Earning Yield Ratio :

Profit before tax Rs. 48.92 lakhs

555
Tax Rate 60%
9% Pref. Share Rs, 20 lakhs
Market Price per Eq. Share Rs. 400
No. of Equity Shares 50,000

[ Internal Assessment — 10 Marks))
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(%) Star Ltd. e seraf ama 3a0e 2
Capital Structure :
12% Debentures Rs. 200000
9% Preference Shares Rs. 300000
Equity Share (Rs. 100 each) Rs. 400000
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Revenue and operating cost details :

Sales 3000 units @ Rs. 600 per unit ; variable cost
Rs. 350 per unit ; Fixed Cost Rs. 320000 ;

Corporate Tax Rate and Dividend Distribution Tax

Rate may be taken at 30% and 1Q% respectively.

Leverage-43 43¢l 4377 I Star Ltd.-aF DOL, DFL
@R DCL e w91 3 Sales 10% I «iw wrz EPS
AR e o ey 3 Y3+

| @ W A 4rg Ter wie ¢ OxY

(F) e e 3 2 Rrem Magea wSREER el wicesat
| - O+

(¥) R B>IET (Capitalisation) RfSw yetaly amm ey
| oS TRA I I PRI TATA B e Ay

HO+9

() (i) e T =S B @R

(i) A Company’s total investmient in assets is
Rs. 1,00,00,000. It has 1,00,000 shares of

Rs. 100 each. It’s expected rate of return on
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investment is 30% and cost of capital is 18%.
The company has a policy of retaining 25% of
its profits.

Determine the value of the firm using Gordon’s

Model. ‘ e .

(8) P Ltd.-«% oSS TR0 =MITam Market P}ice LG
Rs. 601 fR1® %a«mwmm%ﬂm

12%, 14%, 15.5%, 17% 9R 18%| Underwriting

| commission T 2% | Dividend-uﬂ? Growth Rlate LIER
Cost of Equity Share fAa 321 Equity Share-.‘tﬂ‘ﬁ Face
value 28 (417 of$ 10 B1L | ¢+9

(¢) (i) Bharat Ltd. issues 10,000, 13% Debentures of

Rs. 100 each at a premium of 5% redeemable

after 5 years at a premium of 10%. The floating

charge is 2% on issue price. Corporate tax rate
|

is 35%. ¥ SIS} € IF XIS Wel={tw T it

91

(i) T & S5 5% discount-d T T IR AN
ARTAY T T S (SR TaR ¥ fom 2031 (SR
R SR W) . 8+8
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(®) (i) Find out the present value of Rs. 2000 due in

6 years, if money is worth 5% compound semi-

annually.
(i) SR T Y O F Q@ U
ol (@ W 735 Aray Te e IX9

(¥) Retained earnings-97 g fAm =7 ¢

¥ Equity share-93 TN I&IT [T 140 T,
brokerage IRW I 3%, SIS AT B T 5%

wfd® (W g weitd 14 @R shareholder-cRa
IS ITIT T 22% 1 S ©

(}) TR S AT Walter Tretem wmmefe Rge #1)
() e FCN @ A FNAR T 414y Fra |
(®) Wi swen & qenfoT g #9

(8) ‘I IR 8 ‘(M qrem’ @R qfd Reg grapr 93] o
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O+4+d

(@) () PR serefi TR I D. Ltd. 91 5 Saéia
[l i |
Fixed Assets — Rs. 6,00,000 ; Working Capital
- Rs. 4,00,000 ; Working Capital Ratio - 2 ;
Fixed Asset Turnover Ratio - 4 ; Grgss Profit
Ratio — 25% ; Debtor’s Turnover — 1.5 months ;
Creditors’ Turnover - 2 months ; Stock
Turnover Ratio - 6; Net Profit Ratio - 5% ;
Reserve — 2/3 of Net Profit; Capitali Gearing
Ratio - 1:1. '

(i) R R Rt Rt et wsien gt
[ T so+¢
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Balance Sheets (AT 3

Liabilities 2015 2016 |Assets 2015 2016
Rs. Rs, Rs. Rs.
Equity Share Cap)4,00,000] 6,00,000 |Goodwiti 20,000 20,000
(Rs. 10 each) Machinery |4,10,000| 6,20,000
11% Redeemable |1,00,000 — {Building 2,00,000 | 1,50,000
Pref. Share ' Stock 90,000/ 1,08,000
{Rs. 100 each)
General Reserve | 70,000] 80,000 [Debtors 1,80,000| 2,30,000
P&L A/C 1,20,000 | 1,50,000 |Cash & Ba.n]# 40,000 72,000
Capital Reserve - 20,000 |Preliminary
Bank Loan 80,000 | 90,000 Exp. 25,000 20,000
Prov. for Tax 30,000 -40,000
Proposed Divd. 40,000 60,000
Creditors 1,00,000 | 1,50,000
Bills Payable 20,000 30,000
Unclaimed 5,000 —
Dividend .
9,65,000 (12,20,000 9,65,000 [12,20,000

Additional Information :

(a) During the year Bonus shares are issued out of

general reserve in the ratio of I Bonus share for

every 4 Equity shares.

c) 17/B.Com. / Part-HI{H)/3T(N)/AH-7
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(b) Pref. Shares are redeemed at a premium of 10%.

(c) A part of the Building was sold at a préfit and

profit on sale transferred to a Capital Reserve.

{d) Machinery costing Rs. 80,000, WDV Rs. 60,000
was sold for Rs. 50,000. Depreciation charged on
Machinery Rs. 30,000.

|
(e} Both opening and closing stocks are valued at

10% below cost.

(f) Tax paid Rs. 45,000 & Dividend proposed in 2015
was paid in 2016. |

Prepare a Fund Flow Statement as on 3l.12.16.

e

¢\ 1 fO5f0 arg Tog wie ¢ L oxp

(¥) Sl Company Ltd. can make either of two invest-
ments at the begining of 2017. Assuhihg a
required .rate of return of 10% p.a. evaluate the
investment proposals under (ij Discounted pay

back period method and (ii) Present value method.
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The particulars relating to the projects are given
below »
Project A Project B

Initial outlays (Rs.) 20,000 28,000
Estimated life {years) 5 )
Scrap value ' NIL 3,000

Net cash inflows (Rs.)

at the end of : 2017 4,000 7,500
2018 5,000 8,750
2019 6,000 7,500
2020 9,000 7,500

T

2021 5,000 7,500

It is estimated that each of the alternative proposals
will require an additional working capital of Rs. 5,000
which will be réceived back after expiry of life. The
present value of Re 1 to be received é.t the end of each

year at 10% interest rate p.a. is given below :

Year 1 2 3 4 5 ~

PV, Factor : 0.909 0.827 0.751 0.683 0.621

b
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{i) Estlmated Annual Sales - Rs. 48,00, L)OO (of

which 75% will be on credit), (ii) Estlmateq Gross
Profit — 25% on cost of good sold, (iii) Esitimated
turnover : Debtors turnover - 6_times, Creditors
turnover = 12 times, Stock turnover - 3 months,
{iv)] Estimated fixed expenses — Rs. 10,000 p.m.
including depreciation on fixed assets of Rs. 4,000
p.m., {v) Variable general and selling expenses —

2% on turnover and estimated time lag in payment

of expenses — 1.5 months, (vij Average cash

holdings - 1 month’s expenses. : b

() AfvER B /o ok wifds BER-ag g 9n4'21’¢1 o

-

(X) (i) T s I cwwaﬁwﬁri@m?

(if) Wwﬁm?aﬁ@w —a‘ﬁﬁqﬁﬁﬂwqﬁ?
"S- PRy
i

C/17/B.Com./Part-IlI(H)/ 3T(N}/ AH-7 (Tum Over)



(8) Capital Budgeting-97 (¥ (717 %= owg Srmy &7

YGRS STHCIT UMY Net Present Value GRS

Fena tzd-aeiq Brars i e | o+

(5) 50% capacity-co fosfofis werofi crewt zni 60%,

70% IR 90% capacity-(S 930 Flexible Budget 2FS

I GR e I woT e T
Expenses at 50% capacity
(Rs.)
Fixed Expenses :
Salaries _ 60,000
Rent . 30,000
Administrative Exp. 80,000
Depreciation 50,000.
Variable Expenses :
Materials 2,00,000
Labour 2,50,000
Others 40,000
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Semi-variable Expenses :

s N ' Repairs & Maintenance 1,00,000
Indirect wages 1,50,000
Others ' 90,000

|

It is estimated that fixed expenses wili remain
constant at all levels of activities. Semi-variable
expenses will not change between 45% &s 60%
capacity, will rise by 10% between 61% & 75%, a

further increase of 5% when capacity crosses 75%.

Y Estimated sales at different levels are :
60% Rs. 12,00,000
70% Rs. 14,00,000
90% Rs. 16,00,000 oy
vl (1 3N 03 oeeR g we o | | axe

~ (%) wfefes TS avs @3 B9t T

() w9 2z e el Srew #9
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(°) ‘Over Trading’ 9% ‘Under Trading™&d (& <A< -
[GEsa \'J

(W) arfE Rt - 50,00,000 5 @3 ST wEER
10 3" (0T SHRCALIT [T 5,00,000 It | =57 4
T WA TR ﬁﬁfm af$ I=F 10,00,000 BT
SIHPLIT 24T 35% OIR6H AGie FReaf{F | ARR e
3 | ' ©

(¢) f=fofRe vy (AF Earning Yield Ratio A w3 s

=‘Prcjﬁt before tax Rs, 48.92 lakhs

Tax Rate’ 60%
9% Pref. Share Rs, 20 lakhs

Market Price per Eq. Share = Rs. 400

No. of Equity Shares 50,000

| werediT e — so THA]

‘Y
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